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The figures in the margzn mdlcate full marks.
Candzdates are required to give their answers in their own
words as far as practlcable

GROUP - A
( Multiple Choice Type Quéstions )
1. Choose the correct alternatives for any ten of the
~ following : - , 10x1=10
i) The‘ sum. of the | binomial coefficients
Co+C1+Cq+...+C,, is ~
a) 2 - b 2"
c 21! d) none of these.
ii)) Let the function f: R — R defined by

f(x)=2x-1for x> 2
=x2-1for-2 <x<?2
=3x+1forx<-2

Then the value of f(-3 ) is

a 3 : ' b) -8

c) S | d) none of these.
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iii)

If A and B are two disjoint sets then

‘a) {AnB}={A} b (AnB}={B)

vi)

vii)
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o {(AnB)=(U} ) {(AnBj={¢}
y=x denotes a graph ’oil' |

é.) a circle | by a étraighf line

c) a partjicuiar point'“, d) none of these.

The points (1, 2), (2, 4) and (x, 6) are collinear.

Then,xf-
a) 3 - b) 4
g 0 d) -3.

L 1374
The value of (E-l—) is equal tfo
a) 3 . b) 21
c 27 d) 9.
If a+ﬁ=x+J§ , .which‘of theyfoflowipg ’is true ?
a) _a-xorb;y ‘, Ab) .a="yand'b=x

c) a=xandb=y d) a=yorb=x
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viii) n-th term of a GP wﬁésé ﬁrét term is '@’ and
common r_ati‘o"_.rf’.:is__ | o
a) ar DT b) ar®
c) ér | d) none of thcsé._
ix) Iflo:gx81=’4,the.nx=-; ' |
a 1 . ‘b) 2
c 3 | - d) “ri‘one ofthesé. |
x) If the surfx oi" first n-terms of an AP | éeries

(1,2,3,4,5..}is

ag n/2 . - . by (n-1)/2
. ¢ n(n+1)/2 d) n(n-1)/2.
xi) If f(x)='-§-,7ther.1'foranyk>0, [ f(A)=-f(-X) ] =
a1 | b 2
9 -1 4 o
a c¢ L
xii) If -3 then each ratio is equal to
a+e . a-a
27 by <%
2 b+d : : '») b-c
tatc |
: | f .
c} ibid . d) nqne of these
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GROUP-B
" ( Short Answer Type Questions )
Answer any three of the following. 3 x5 = 15

2. Find the square rootof ( 28 - 6+/3). - N

3. If three successive coefficients in the expansion of

(1 +x)™ be 252, 210 and 120 respectively, find the
value of n. | o

4. Find the 9th term of the G.P. of which the 4th and 11th
tg:rmé are 2 and 1 /64 respectivély. |

5. Find the equation of the 'straight line 'vthat paéses
through the origin and the poinf of intersection between

the two straight lines x-y-4 =0and 7x+ y + 20 = 0.

6. If x = f_?i and y = :/(3'5_11’ find the value of
- . +
(P +xy+y?) [ (P -xy+y?).
GROUP -C

( Long Answer Type Questiozis )
Answer any three of the following. 3 x 15 =45

7. a)- If x, y, z are in G.P,, pro{re that log x, log yv and

log z are in A.P.
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b)

b)

1/10055

The pncc of a diamond weighing 10 carats is
Rs. 12,000. The diamond is broken into 2 pieces
weighing 8 cérats and 2 cmﬁts. If the price of the
diamond is proportional to the square of its
weight, find the amount of loss due to bre'akage.‘ -
Rohan purcha‘éed .g mobile i:)hone paying
Rs. 5,’000. down and promising to pay Rs. 200

quarterly for the next 4 years. The seller charges

" 8% per annum compounded quarterly. Find the

extra amount of money Rohan will pay d_uc-jto his

hire-purchase. ' : 4+4+7

Divide 21 into three parts, which will be in A.P,,

such that the product of thé first and .second

~ parts is 28.

1f£(x) = 1% find f{f(;lc-)}

Show that 2++/17 is not a rational number.

S+5+5
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9‘. a) If (x2+y +z ) (a 2,p2 +c )- (ax+by +cz)2 then
| show that ——-‘y—t=—z~‘.'

b) An um contains 12 lamps of which 5 are
defectives. In how many ways 6 lamps can be
selected from the urn so as to include at most 3
defective lamps. | ‘

c) - If the sum of the roots of a quadratic equation is 2

~and the sum of their cubes is 27 then find the

' corresponding equation.
10. a) Fmd the value of mif

-2(5+2m)x+3(7+10m) Ohasequal

roots.
-b) Which term in the expansion of (xz +;) is

independent of x ? Write the value of that term.
. ¢} A student counsellor is planning schedules for 30
o students to train them on foreign languages.
Sixteen students say they want to.take French,
16 want to take Spaniéh, and 11 want to take
German. Five say they want to take both French
and German and of these, 3 wanted to take
Spanish as well. Five want only German, and 8
 want only Spanish. How many students want |
French only ?
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11. a)

b)

Find the locus of the point, the ratio of whose
distances from the line x = 2. and from the point
(5,—1)iss\i"2. | |

State De Morgan's’ laws.

fU=(-1,-2,0,3,5, 16, 12,13, 16),

P={-2, 3,5, _1"2),Q’=‘(’— 1,-2,0,5,12, 13),
then verify De Morgan's laws. |
Find the equyation' of the circle _througlll. the points
(4,3)and (-2, 5) énd having‘its centre on the
line 2x - 3y =4. | |

Or

Apply the prinéiple of mathematical induction to prove

1

1 1 1 n

+ + +
4.7 7.10 10.13
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